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APPLIED MATHEMATICS
Traifta aug AT Ee [eTfeream 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70

e o (i) WU dfErE & v 4§ e gre & 3w1 siid |

Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(ii) Tl gv7 & g1 97 #1 YR U T 6T o |
Solve all parts of a question consecutively together.
(iii) Tl 9¥T T 79 7B G qRE Hirg |
Start each question on a fresh page.
(iv) T Grrey 7 o g1 i Rt F st srqar at o &

Only English version is valid in case of difference in both the languages.

1. () Wi gen (1; — i) &7 ol 7 S |

Find the argument of the complex number (1; —i).

(ii) ﬂﬁy=\/smx+\/smx+\/9mx+ ....... ﬁﬁﬂ%ﬁﬁiﬁ“ﬁ?@y—])———mcmx

(iii) maﬁ%ﬁr: A +x2ed

="ty 4 x2eY

gy
Solve : A

(iv) T2 +y2=12x % F5 % Fogie vd B o S |
Find the centre and radius of the circle whose equation is given by x* + y = 12x.

(v) 10 Tol A | 4 BT SEH B 9gH & [0 fHa WeR | g S HeEd § 2
Out of 10 flowers, in how many ways 4 flowers can be selected for the
worshipping of the God ? (2x5)
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(i)
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(ii)
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(i)

®

(i)

(2) 1871
I tan (1 cos 0) = cot (xr sin ), & Fag == & : cos [8-—£]=i -
4 22
If tan (7 cos 8) = cot (7t sin 8), then prove that : cos [8 -~ %] =ik -2—1—2

2' < " ~, ~ a5 .,
g f(x) = > x“l,x=lwawmm,maaﬁ?b$mmaﬁﬁﬁi
ax+b, x>1

2. <
i a2l is differentiable at x = 1, then find the value of a and b.(6+6)

ax+b, x>1

If f(x) ={

I T @ H FHE0T I BT S S (4, 5) 9 g ST 8, a9 e W&
26 -3y —5=0F TR E |

Find the equation of a line passing through the points (4, 5) and parallel to the
line 2x -3y -5 =0.

mw&qu&+my+n=0Wy2=4ax3ﬁ@ﬁw\'ﬁ,aﬁ'fn=am2I

Prove that the line Ix + my + n = 0 touches the parabola y> = dax, if In = am®. (6+6)

T y = X8 % 4 (sin x)* F x & TUE T HID |

Differentiate y = x'°8* + (sin x)* with respect to x.

T gl 3TFd W AT g S o8 7 & | AT fggent i i P El, O s
e S T R |

A window is in the shape of a rectangle with a semi-circle covering the top. If the
perimeter of the window be a fixed length P, find its maximum area. (6+6)

g =i

Prove that :

Lda o’
1 b b=(@+b+c)(@a-b)(b=c)(c-a).
1 c¢c ¢

TiceArs Y 1 W ST FHIehI0T T i 5 ST

Solve the system of equations using inverse matrix :

xX+y+z=6
xX-y+z=2
2x+y-z=1 (6+6)
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(3)

= TR T S

Solve the following integrals :
(i) Ix tan x sec’ x dx

. dx
) j2x2+ x—1
Pt aTerepet THieHT B IR

Solve the following differential equation :

o dy

—=— +ytanx = sec

(1) S X
(i) (D*+7D+ 1)y =e*

() O™ I R
Find the value :

2 A/8in x
= d
5 /sin x + 4/cos x

1871

(6+6)

(6+6)

(i) WA 47— f 43k -2/ + [ -2k % w9 v WRE ST R

Hi |

Find a vector of magnitude 9, which is perpendicular to both the vectors

4i—j +3kand -2+ J =2k .
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